



Research article

Spectral analysis of discontinuous Sturm-Liouville operators with Herglotzs transmission

Gaofeng Du, Chenghua Gao* and Jingjing Wang

Department of Mathematics, Northwest Normal University, Lanzhou 730070, China

* **Correspondence:** Email: gaokuguo@163.com

Abstract: In this paper, we study the spectral properties of the Sturm-Liouville operator with eigenparameter-dependent boundary conditions and transmission conditions. In details, we introduce a Hilbert space formula, so that the problem we consider can be interpreted as an eigenvalue problem of an self-adjoint operator. Moreover, the Green’s function and the resolvent of the related linear operator are obtained.

Keywords: spectral analysis; Sturm-Liouville operator; transmission conditions; eigenparameter dependent boundary condition; eigenvalue problem

1. Introduction

In the present work, we shall investigate the spectra of the Sturm-Liouville equation

$$Ly := -p(x)y'' + q(x)y = \lambda y, \quad x \in J \equiv [-a, 0) \cup (0, b], \tag{1.1}$$

with the boundary condition

$$L_1y := \lambda(\alpha'_1y(-a) - \alpha'_2y'(-a)) - (\alpha_1y(-a) - \alpha_2y'(-a)) = 0, \tag{1.2}$$

$$L_2y := \lambda(\beta'_1y(b) - \beta'_2y'(b)) + (\beta_1y(b) - \beta_2y'(b)) = 0. \tag{1.3}$$

The spectral parameters not only appear in boundary condition, but also depend on the Herglotzs function

$$\Delta'y := y'(0^+) - y'(0^-) = -y(0^+) \left(\lambda\eta - \xi - \sum_{i=1}^N \frac{b_i^2}{\lambda - c_i} \right), \tag{1.4}$$

$$\Delta y := y(0^+) - y(0^-) = y'(0^-) \left(\lambda\kappa + \zeta - \sum_{j=1}^M \frac{a_j^2}{\lambda - d_j} \right). \tag{1.5}$$

Here, $p(x) = \frac{1}{p_1^2}, x \in [-a, 0)$ and $p(x) = \frac{1}{p_2^2}, x \in (0, b]$; $q(x)$ is real valued continuous function in J ; $p_i, \alpha_i, \beta_i, \alpha'_i$ and β'_i ($i = 1, 2$) are nonzero real numbers. In the Herglotz function, all parameters satisfy the following conditions: $a_j, b_i > 0, c_i < c_{i+1}, d_j < d_{j+1}, i = \overline{1, N-1}, j = \overline{1, M-1}$; $\eta, \kappa > 0, \xi, \zeta \in \mathbb{R}$ and $N, M \in \mathbb{N}_0$. Let

$$\mu(\lambda) = \lambda\eta + \xi + \sum_{i=1}^N \frac{b_i^2}{\lambda - c_i}, \nu(\lambda) = \lambda\kappa + \zeta - \sum_{j=1}^M \frac{a_j^2}{\lambda - d_j}. \quad (1.6)$$

Then according to the properties of Herglotz function (see [1]), we know that

$$\frac{1}{\mu(\lambda)} = \sigma - \sum_{i=1}^{N'} \frac{\varepsilon_i^2}{\lambda - \gamma_i}, \frac{1}{\nu(\lambda)} = \tau + \sum_{j=1}^{M'} \frac{\epsilon_j^2}{\lambda - \delta_j},$$

where $\sigma, \tau \in \mathbb{R}$ and $\varepsilon_i, \epsilon_j > 0$, for $i = \overline{1, N'-1}, j = \overline{1, M'-1}$; $\gamma_i < \gamma_{i+1}, \delta_j < \delta_{j+1}$. Therefore

$$y(0^+) = \frac{1}{\mu(\lambda)} \Delta' y, \quad y'(0^-) = \frac{1}{\nu(\lambda)} \Delta y. \quad (1.7)$$

In many mathematical and physical models, it is necessary to study the eigenvalue of Sturm-Liouville problem and its corresponding eigenfunction. When the spectral parameters appear not only in differential equations, but also in boundary conditions, excellent results have been obtained (see [2–4]). Binding firstly studied the eigenvalue problem of Sturm-Liouville operator with boundary conditions dependent on spectral parameters

$$(a_k \lambda + b_k)y(0) = (c_k \lambda + d_k)(py)'(0), \quad (-1)^k (a_k d_k - b_k c_k) \leq 0, \quad k = 0, 1.$$

In addition, similar problems for differential equations with continuous coefficient ($p(x) \equiv 1$) and boundary conditions with spectral parameter were investigated in [5–7] and other works.

It is noteworthy that the boundary condition or the coefficient in the equation in the above results are all continuous. Now, the question is when the coefficient in the equation and the boundary condition are both discontinuous, could we still obtain the spectral properties of the linear eigenvalue problems? We know that discontinuous boundary value problems can also be found in many physical problems, such as, diffraction problem (see [8]), heat and mass transfer problem (see [9]) and vibrating problem (see [10]). To deal with the discontinuities, some conditions are necessary, such as, point interactions, impulsive conditions, transmission conditions, jump conditions or interface conditions (see [11–13]). For example, in [14], the author considered transmission conditions at one point and found asymptotic formulas of eigenvalues and corresponding eigenfunctions. Moreover, for similar problems, the work of literature [15] focused on Sturm-Liouville operators with a finite number of transmission conditions and established the self-adjointness of linear operator in a suitable Hilbert space.

Inspired by the above results, we consider the eigenvalue problems (1.1)–(1.5), where the coefficient $p(x)$ is discontinuous. In details, we consider the Sturm-Liouville equation in which the first coefficient may have the discontinuity at one point. Moreover, we allow boundary conditions and transmission conditions (Nevanlinna-Herglotz functions) to depend on spectral parameters. In Section 2, linear operator formulation is established, and the problems (1.1)–(1.5) can be interpreted as the eigenvalue problem of linear operator. The fundamental solutions and characteristic determinant are given in

Section 3. Based on the operator formulation in the Hilbert space, the resolvent operator and self-adjointness of linear operator are constructed in the last Section.

Finally, for the sake of reader's convenience, let us introduce the properties of the Nevanlinna-Herglotz function as follows.

- (i) if $\lambda = c_i$ (c_i is the pole of $\mu(\lambda)$), then transmission condition (1.4) and (1.5) degenerates into $y(0^+) = 0$ and $y'(0^-)\nu(\lambda) = -y(0^-)$;
- (ii) if $\mu(\lambda) = 0$ ($\lambda \neq c_i$ is the zero of $\mu(\lambda)$), then $\Delta'y = 0$;
- (iii) if $\lambda = d_j$ (d_j is the pole of $\nu(\lambda)$), then transmission condition (1.4) and (1.5) degenerates into $y'(0^-) = 0$ and $y(0^+)\mu(\lambda) = y'(0^+)$;
- (iv) if $\nu(\lambda) = 0$ ($\lambda \neq d_j$ is the zero of $\nu(\lambda)$), then $\Delta y = 0$.

2. The operator eigenvalue problem

In this section, we define a special inner product in the Hilbert space

$$\mathcal{H} = L^2(-a, b) \oplus \mathbb{C} \oplus \mathbb{C} \oplus \mathbb{C}^{N'} \oplus \mathbb{C}^{M'}$$

and a linear operator A defined on \mathcal{H} . Moreover, the Sturm-Liouville problems (1.1)–(1.5) can be considered as the operator eigenvalue problem.

Define

$$\rho_1 := \begin{vmatrix} \alpha'_1 & \alpha_1 \\ \alpha'_2 & \alpha_2 \end{vmatrix} > 0, \quad \rho_2 := \begin{vmatrix} \beta'_1 & \beta_1 \\ \beta'_2 & \beta_2 \end{vmatrix} > 0.$$

For convenience's sake, we use the following notations:

$$\begin{aligned} \mathbf{f}^1 &:= (f_1^1, f_2^1, \dots, f_{N'}^1)^T, \quad \mathbf{f}^2 := (f_1^2, f_2^2, \dots, f_{M'}^2)^T; \\ f_1 &:= \alpha'_1 f(-a) - \alpha_2 f'(-a), \quad f_2 := \beta'_1 f(b) - \beta_2 f'(b), \\ f^1 &:= \alpha_1 f(-a) - \alpha_2 f'(-a), \quad f^2 := \beta_1 f(b) - \beta_2 f'(b). \end{aligned}$$

For $\eta, \kappa > 0$, we define a new inner product in \mathcal{H} by

$$\begin{aligned} \langle F, G \rangle &:= p_1^2 \int_{-a}^0 f(x)\bar{g}(x)dx + p_2^2 \int_0^b f(x)\bar{g}(x)dx \\ &\quad + \frac{1}{\rho_1} f_1 \bar{g}_1 + \frac{1}{\rho_2} f_2 \bar{g}_2 + \langle \mathbf{f}^1, \mathbf{g}^1 \rangle_1 + \langle \mathbf{f}^2, \mathbf{g}^2 \rangle_1 \end{aligned} \quad (2.1)$$

for

$$F := (f, f_1, f_2, \mathbf{f}^1, \mathbf{f}^2)^T, \quad G := (g, g_1, g_2, \mathbf{g}^1, \mathbf{g}^2)^T \in \mathcal{H},$$

where $\langle \cdot, \cdot \rangle_1$ denotes Euclidean inner product.

In the Hilbert space \mathcal{H} , we consider the operator A which is defined by

$$A \begin{pmatrix} f \\ f_1 \\ f_2 \\ \mathbf{f}^1 \\ \mathbf{f}^2 \end{pmatrix} = \begin{pmatrix} Lf \\ f^1 \\ -f^2 \\ \epsilon \Delta' f + [\gamma_i] \mathbf{f}^1 \\ \epsilon \Delta f + [\delta_j] \mathbf{f}^2 \end{pmatrix} = \begin{pmatrix} Lf \\ \alpha_1 f(-a) - \alpha_2 f'(-a) \\ -(\beta_1 f(b) - \beta_2 f'(b)) \\ \epsilon \Delta' f + [\gamma_i] \mathbf{f}^1 \\ \epsilon \Delta f + [\delta_j] \mathbf{f}^2 \end{pmatrix}$$

with the domain

$$D(A) = \{F = (f, f_1, f_2, \mathbf{f}^1, \mathbf{f}^2)^T : f \in AC[-a, b], f' \in AC[-a, 0) \cup (0, b], Lf \in L^2(-a, b), \\ -f(0^+) + \sigma \Delta' f - \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 = 0, f'(0^-) - \tau \Delta f - \langle \mathbf{f}^2, \boldsymbol{\varepsilon} \rangle_1 = 0\},$$

where $[\gamma_i] := \text{diag}(\gamma_1, \dots, \gamma_{N'})$, $[\delta_j] := \text{diag}(\delta_1, \dots, \delta_{M'})$, $\boldsymbol{\varepsilon} := (\varepsilon_i)$ and $\boldsymbol{\epsilon} := (\epsilon_j)$.

Lemma 2.1. *The domain $D(A)$ is dense in \mathcal{H} .*

Proof. Let $W = (w, f_1, f_2, \mathbf{f}^1, \mathbf{f}^2)^T \in \mathcal{H}$, where $w \in C^\infty[-a, 0) \cup (0, b]$ satisfying

$$w(-a) = w'(-a) = 0, w(b) = w'(b) = 0$$

and the condition

$$w(0^-) = \sigma \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 + (1 - \sigma) \langle \mathbf{f}^2, \boldsymbol{\epsilon} \rangle_1, w(0^+) = (\sigma - 1) \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 - \sigma \langle \mathbf{f}^2, \boldsymbol{\epsilon} \rangle_1, \\ w'(0^-) = -\tau \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 + (\tau + 1) \langle \mathbf{f}^2, \boldsymbol{\epsilon} \rangle_1, w'(0^+) = (1 - \tau) \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 + \tau \langle \mathbf{f}^2, \boldsymbol{\epsilon} \rangle_1.$$

Meanwhile,

$$\Delta w = \langle \mathbf{f}^2, \boldsymbol{\epsilon} \rangle_1 - \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1, \Delta' w = \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 - \langle \mathbf{f}^2, \boldsymbol{\epsilon} \rangle_1.$$

Then, it is easy to verify that $W \in D(A)$. Next, as long as it is proved that the elements in \mathcal{H} can be approximated by the elements in $D(A)$, the desired result can be obtained.

Since

$$(C_0^\infty(-a, 0) \oplus C_0^\infty(0, b)) \oplus \{0\} \oplus \{0\} \oplus \{\mathbf{0}\} \oplus \{\mathbf{0}\} \subseteq D(A)$$

and

$$\overline{(C_0^\infty(-a, 0) \oplus C_0^\infty(0, b))} \supset L^2(-a, b),$$

there exists a sequence $\{m_n\} \in C_0^\infty(-a, 0) \oplus C_0^\infty(0, b)$ with $m_n \rightarrow f - w$ as $n \rightarrow \infty$, where $M_n := (m_n, 0, 0, \mathbf{0}, \mathbf{0})^T \in D(A)$. Therefore, $W + M_n \rightarrow F$ as $n \rightarrow \infty$ giving that $\overline{D(A)} \supset \mathcal{H}$.

Theorem 2.1. *The operator eigenvalue problem $AF = \lambda F$ and the considered Sturm-Liouville problems (1.1)–(1.5) are equivalent and the eigenfunction is the first components of the corresponding eigenelements of the operator A . Moreover, for $\eta, \kappa > 0$, we have following results:*

- (i) if $\lambda \neq \gamma_i \forall i = \overline{1, N'}$, then $\mathbf{f}^1 = (\lambda I - [\gamma_i])^{-1} \boldsymbol{\varepsilon} \Delta' f$; if $\lambda = \gamma_I \exists I \in \{1, N'\}$, then $\mathbf{f}^1 = \frac{-f(0^+)}{\varepsilon_I} e^I$;
(ii) if $\lambda \neq \delta_j \forall j = \overline{1, M'}$, then $\mathbf{f}^2 = (\lambda I - [\delta_i])^{-1} \boldsymbol{\epsilon} \Delta f$; if $\lambda = \gamma_J \exists J \in \{1, M'\}$, then $\mathbf{f}^2 = \frac{f(0^-)}{\epsilon_J} e^J$, where e^n is the vector in \mathbb{R}^n with and except the n -th element is 1, all other elements are 0.

Proof. We just need to show that the eigenelement f of the operator A obeys the boundary conditions (1.2) and (1.3) and transfer conditions (1.4) and (1.5). It is clear that f satisfies (1.2) and (1.3). The definition of A implies $\gamma_i f_i^1 + \varepsilon_i \Delta' f = \lambda f_i^1$ for all i . Meanwhile, the domain of A gives $-f(0^+) + \sigma \Delta' f - \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 = 0$. Thus, if $\lambda \neq \gamma_i$ for all i , then

$$f(0^+) = \left(\sigma - \sum_{i=1}^{N'} \frac{\varepsilon_i^2}{\lambda - \gamma_i} \right) \Delta' f.$$

If $\lambda = \gamma_I$ for some $I \in \{1, \dots, N'\}$, then $-f(0^+) - \langle f_I^1, \varepsilon_I \rangle_1 = 0$. That is, $f_I^1 = \frac{-f(0^+)}{\varepsilon_I}$. Hence, f satisfies (1.4).

Similarly, if $\lambda \neq \delta_j$ for all j , then $f_j^2 = \frac{\epsilon_j}{\lambda - \delta_j} \Delta f$ and

$$f'(0^-) = \left(\tau + \sum_{j=1}^{M'} \frac{\epsilon_j^2}{\lambda - \delta_j} \right) \Delta f.$$

While $\lambda = \delta_j$ for some $j \in \{1, \dots, M'\}$, the domain condition forces $f_j^2 = \frac{f'(0^-)}{\epsilon_j}$ from which (1.5) follows.

Theorem 2.2. *The linear operator A is symmetric.*

Proof. Let $F, G \in D(A)$. Then it follows from the problem (1.1) and the relation (2.1) that

$$\begin{aligned} \langle AF, G \rangle - \langle F, AG \rangle &= (f\bar{g}')(0^-) - (f'\bar{g})(0^-) + (f'\bar{g})(0^+) - (f\bar{g}')(0^+) \\ &\quad + (f'\bar{g})(-a) - (f\bar{g}')(-a) + (f\bar{g}')(b) - (f'\bar{g})(b) \\ &\quad + \frac{1}{\rho_1} f^1 \bar{g}_1 - \frac{1}{\rho_2} f^2 \bar{g}_2 + \langle \epsilon \Delta' f + [\gamma_i] \mathbf{f}^1, \mathbf{g}^1 \rangle_1 + \langle \epsilon \Delta f + [\delta_j] \mathbf{f}^2, \mathbf{g}^2 \rangle_1 \\ &\quad - \frac{1}{\rho_1} f_1 \bar{g}^1 + \frac{1}{\rho_2} f_2 \bar{g}^2 - \langle \mathbf{f}^1, \epsilon \Delta' g + [\gamma_i] \mathbf{g}^1 \rangle_1 - \langle \mathbf{f}^2, \epsilon \Delta g + [\delta_j] \mathbf{g}^2 \rangle_1. \end{aligned}$$

Moreover, we have

$$\begin{aligned} \rho_1^{-1} (f^1 \bar{g}_1 - f_1 \bar{g}^1) &= (f\bar{g}')(-a) - (\bar{g}f')(-a), \\ \rho_2^{-1} (f^2 \bar{g}_2 - f_2 \bar{g}^2) &= -((f\bar{g}')(b) - (\bar{g}f')(b)). \end{aligned}$$

Meanwhile, the vector components satisfy

$$\begin{aligned} \langle \epsilon \Delta' f + [\gamma_i] \mathbf{f}^1, \mathbf{g}^1 \rangle_1 - \langle \mathbf{f}^1, \epsilon \Delta' g + [\gamma_i] \mathbf{g}^1 \rangle_1 &= \langle \epsilon \Delta' f, \mathbf{g}^1 \rangle_1 - \langle \mathbf{f}^1, \epsilon \Delta' g \rangle_1, \\ \langle \epsilon \Delta f + [\delta_j] \mathbf{f}^2, \mathbf{g}^2 \rangle_1 - \langle \mathbf{f}^2, \epsilon \Delta g + [\delta_j] \mathbf{g}^2 \rangle_1 &= \langle \epsilon \Delta f, \mathbf{g}^2 \rangle_1 - \langle \mathbf{f}^2, \epsilon \Delta g \rangle_1, \end{aligned}$$

and the domain condition $D(A)$ implies

$$\begin{aligned} \langle \epsilon \Delta' f, \mathbf{g}^1 \rangle_1 - \langle \mathbf{f}^1, \epsilon \Delta' g \rangle_1 &= \Delta' f [-\bar{g}(0^+) + \sigma \Delta' \bar{g}] - \Delta' \bar{g} [-f(0^+) + \sigma \Delta' f], \\ \langle \epsilon \Delta f, \mathbf{g}^2 \rangle_1 - \langle \mathbf{f}^2, \epsilon \Delta g \rangle_1 &= \Delta f [\bar{g}'(0^-) - \tau \Delta \bar{g}] - \Delta \bar{g} [f'(0^-) - \tau \Delta f]. \end{aligned}$$

Therefore,

$$\begin{aligned} \langle \epsilon \Delta' f + [\gamma_i] \mathbf{f}^1, \mathbf{g}^1 \rangle_1 - \langle \mathbf{f}^1, \epsilon \Delta' g + [\gamma_i] \mathbf{g}^1 \rangle_1 &= \Delta' \bar{g} f(0^+) - \Delta' f \bar{g}(0^+), \\ \langle \epsilon \Delta f + [\delta_j] \mathbf{f}^2, \mathbf{g}^2 \rangle_1 - \langle \mathbf{f}^2, \epsilon \Delta g + [\delta_j] \mathbf{g}^2 \rangle_1 &= \Delta f \bar{g}'(0^-) - \Delta \bar{g} f'(0^-). \end{aligned}$$

It can be obtained by simple calculation

$$\begin{aligned} &(f'\bar{g} - f\bar{g}')(0^+) - (f'\bar{g} - f\bar{g}')(-a) \\ &= \bar{g}(0^+) \Delta' f - f(0^+) \Delta' \bar{g} - \bar{g}'(0^-) \Delta f + f'(0^-) \Delta \bar{g}. \end{aligned}$$

Thus, $\langle AF, G \rangle - \langle F, AG \rangle = 0$ and so A is symmetric.

Corollary 2.1. *All eigenvalues of the Sturm-Liouville problems (1.1)–(1.5) are real.*

Corollary 2.2. *Let λ_1 and λ_2 be two different eigenvalues of the Sturm-Liouville problems (1.1)–(1.5). Then the corresponding the eigenfunctions $u_1(x)$ and $u_2(x)$ are orthogonal, i.e.,*

$$\begin{aligned} p_1^2 \int_{-a}^0 u_1(x) u_2(x) dx + p_2^2 \int_0^b f_1(x) f_2(x) dx + \frac{1}{\rho_1} f_1(u_1) f_1(u_2) \\ + \frac{1}{\rho_2} f_2(u_1) f_2(u_2) + \langle \mathbf{f}^1(u_1), \mathbf{g}^1(u_2) \rangle_1 + \langle \mathbf{f}^2(u_1), \mathbf{g}^2(u_2) \rangle_1 = 0. \end{aligned}$$

3. Fundamental solutions and characteristic determinant

Lemma 3.1. ([5]) *All eigenvalues of Sturm-Liouville problems (1.1)–(1.5), not at poles of $\mu(\lambda)$ or $\nu(\lambda)$, are geometrically simple. In the case, Herglotz condition (1.4) and (1.5) can be transformed into*

$$\begin{pmatrix} y(0^+) \\ y'(0^+) \end{pmatrix} = \begin{pmatrix} 1 & \nu(\lambda) \\ \mu(\lambda) & 1 + \mu(\lambda)\nu(\lambda) \end{pmatrix} \begin{pmatrix} y(0^-) \\ y'(0^-) \end{pmatrix}.$$

Lemma 3.2. ([16]) *Let $q(x) \in C[-a, b]$, and $f(\lambda)$ and $g(\lambda)$ be given entire functions. Then for $\forall \lambda \in \mathbb{C}$, the equation*

$$-p(x)u'' + q(x)u = \lambda u, \quad x \in [-a, b]$$

has a unique solution $u = u(x, \lambda)$ satisfying the initial conditions

$$u(a) = f(\lambda), \quad u'(a) = g(\lambda) \quad (\text{or } u(b) = f(\lambda), \quad u'(b) = g(\lambda)).$$

Moreover, for each fixed $x \in [-a, b]$, $u = u(x, \lambda)$ is an entire function of λ .

Lemma 3.3. *Let $u_-(x, \lambda), x \in [-a, 0)$ be the solution of the Sturm-Liouville problem (1.1) satisfying conditions*

$$u_-(-a) = -\alpha_2 + \lambda\alpha'_2, \quad u'_-(-a) = -\alpha_1 + \lambda\alpha'_1 \quad (3.1)$$

and $v_+(x, \lambda), x \in (0, b]$ denote the solution of the Sturm-Liouville problem (1.1) satisfying the conditions

$$v_+(b) = -\beta_2 + \lambda\beta'_2, \quad v'_+(b) = -\beta_1 + \lambda\beta'_1. \quad (3.2)$$

Then the Wronskian $W[u_-, v_+] = u_-v'_+ - v_+u'_-$ is independent of x .

Proof. Direct computation, we have

$$\begin{aligned} \frac{\partial}{\partial x} W[u_-(x, \lambda), v_+(x, \lambda)] &= u_-(x, \lambda) \frac{\partial^2}{\partial x^2} v_+(x, \lambda) - v_+(x, \lambda) \frac{\partial^2}{\partial x^2} u_-(x, \lambda) \\ &= \frac{qv_+ - \lambda v_+}{p} u_- - \frac{qu_- - \lambda u_-}{p} v_+ = 0. \end{aligned}$$

It follows that the Wronskian $W[u_-(x, \lambda), v_+(x, \lambda)]$ is constant on $[-a, 0) \cup (0, b]$ and by virtue of Lemma 3.2, it is a function of λ .

We know that the problem (1.1) exists two fundamental solutions on whole $[-a, 0) \cup (0, b]$ satisfying the boundary conditions (1.2)–(1.5). First, we extend $u_-(x, \lambda)$ and $v_+(x, \lambda)$ by the zero function to $[-a, 0) \cup (0, b]$, i.e., we define

$$u_-(x, \lambda) = \begin{cases} u_-(x, \lambda), & x \in [-a, 0), \\ 0, & x \in (0, b] \end{cases}$$

and

$$v_+(x, \lambda) = \begin{cases} 0, & x \in [-a, 0), \\ v_+(x, \lambda), & x \in (0, b]. \end{cases}$$

Now by virtue of Lemma 3.1, it's workable to extend $u_-(x, \lambda)$, $x \in [-a, 0)$ and $v_+(x, \lambda)$, $x \in (0, b]$ by nontrivial solution $u_+(x, \lambda)$, $x \in (0, b]$ and $v_-(x, \lambda)$, $x \in [-a, 0)$ satisfying the conditions

$$\begin{pmatrix} u_+(0^+) \\ u'_+(0^+) \end{pmatrix} = \begin{pmatrix} 1 & v(\lambda) \\ \mu(\lambda) & 1 + \mu(\lambda)v(\lambda) \end{pmatrix} \begin{pmatrix} u_-(0^-) \\ u'_-(0^-) \end{pmatrix}$$

and

$$\begin{pmatrix} v_-(0^-) \\ v'_-(0^-) \end{pmatrix} = \begin{pmatrix} 1 + \mu(\lambda)v(\lambda) & -v(\lambda) \\ -\mu(\lambda) & 1 \end{pmatrix} \begin{pmatrix} v_+(0^+) \\ v'_+(0^+) \end{pmatrix}.$$

Moreover, we define two linearly independent solutions of the problem (1.1) on the whole $[-a, 0) \cup (0, b]$ as

$$u(x, \lambda) = \begin{cases} u_-(x, \lambda), & x \in [-a, 0), \\ u_+(x, \lambda), & x \in (0, b], \end{cases} \quad (3.3)$$

$$v(x, \lambda) = \begin{cases} v_-(x, \lambda), & x \in [-a, 0), \\ v_+(x, \lambda), & x \in (0, b]. \end{cases} \quad (3.4)$$

It note that u and v must satisfy boundary conditions (1.2)–(1.5). Let

$$y(x, \lambda) = \varphi(\lambda)u(x, \lambda) + \psi(\lambda)v(x, \lambda). \quad (3.5)$$

According to (1.4) and (1.5), we have

$$\begin{aligned} y(0^+)(\lambda\eta - \xi) + \Delta'y &= y(0^+) \sum_{i=1}^N \frac{b_i^2}{\lambda - c_i}, \\ -y'(0^-)\lambda(\kappa + \zeta) + \Delta y &= -y'(0^-) \sum_{j=1}^M \frac{a_j^2}{\lambda - d_j}. \end{aligned}$$

Moreover, we define

$$\begin{cases} U_1(y, \lambda) := -(y(0^+)(\lambda\eta - \xi) + \Delta'y) \prod_{i=1}^N (\lambda - c_i) + y(0^+) \sum_{i=1}^N b_i^2 \prod_{k \neq i} (\lambda - c_k) = 0, \\ U_2(y, \lambda) := (y'(0^-)\lambda(\kappa + \zeta) + \Delta y) \prod_{j=1}^M (\lambda - d_j) - y'(0^-) \sum_{j=1}^M a_j^2 \prod_{k \neq j} (\lambda - d_k) = 0 \end{cases} \quad (3.6)$$

and any solution to problem (1.1) on $[-a, 0) \cup (0, b]$ satisfying the boundary conditions (1.2) and (1.3) must be of the form (3.5). Let

$$\omega(\lambda) = \det \begin{pmatrix} U_1(u, \lambda) & U_1(v, \lambda) \\ U_2(u, \lambda) & U_2(v, \lambda) \end{pmatrix}.$$

Therefore, $\omega(\lambda)$ will be referred to as the characteristic determinant of (1.1)–(1.5). It is shown in Theorem 3.1 below that $\omega(\lambda)$ has the properties expected of the characteristic determinant.

Theorem 3.1. *The eigenvalue λ of the Sturm-Liouville problems (1.1)–(1.5) consists of the zero of the characteristic determinant.*

Proof. The relation (3.6) implies

$$U_k(y, \lambda) = \varphi(\lambda)U_k(u, \lambda) + \psi(\lambda)U_k(v, \lambda), \quad k = 1, 2, \quad (3.7)$$

That is, λ is an eigenvalue of Sturm-Liouville problems (1.1)–(1.5) if and only if $U_1(y, \lambda) = 0$, $U_2(y, \lambda) = 0$. Moreover, these two equations exist nontrivial solution $\varphi(\lambda)$ and $\psi(\lambda)$ if and only if

$$\omega(\lambda) = \det \begin{pmatrix} U_1(u, \lambda) & U_1(v, \lambda) \\ U_2(u, \lambda) & U_2(v, \lambda) \end{pmatrix} = 0.$$

Therefore, we proved that the eigenvalue of Sturm-Liouville problems (1.1)–(1.5) coincides with the zero of $\omega(\lambda)$.

Similar to Lemma 3.3, let $W[u(x, \lambda), v(x, \lambda)] =: \varpi(\lambda)$. In view of Theorem 3.1, we define

$$g(x, \lambda) := \frac{v(x, \lambda)}{\varpi(\lambda)} \int_{-a}^x u(t, \lambda)h(t)dt + \frac{u(x, \lambda)}{\varpi(\lambda)} \int_x^b v(t, \lambda)h(t)dt, \quad h \in L^2(-a, b).$$

and the Green's function of the Sturm-Liouville problems (1.1)–(1.5) is given by

$$G(x, t) = \begin{cases} \frac{u(t, \lambda)v(x, \lambda)}{\varpi(\lambda)}, & t < x, \quad t \in [-a, 0) \cup (0, b], \\ \frac{v(t, \lambda)u(x, \lambda)}{\varpi(\lambda)}, & x < t, \quad t \in [-a, 0) \cup (0, b]. \end{cases}$$

Theorem 3.2. *Let*

$$g(x, \lambda) = \int_{-a}^b G(x, t)h(t)dt := Th. \quad (3.8)$$

Then $g(x, \lambda)$ is the solution of operator equation $(\lambda - L)g = ph$ on J . Moreover, g satisfies the boundary conditions (1.2)–(1.5).

Proof. The relation (3.8) implies

$$g\varpi(\lambda) = v(x, \lambda) \int_{-a}^x u(t, \lambda)h(t)dt + u(x, \lambda) \int_x^b v(t, \lambda)h(t)dt. \quad (3.9)$$

Furthermore, we have

$$\frac{\partial}{\partial x} g\varpi(\lambda) = \frac{\partial}{\partial x} v(x, \lambda) \int_{-a}^x u(t, \lambda)h(t)dt + \frac{\partial}{\partial x} u(x, \lambda) \int_x^b v(t, \lambda)h(t)dt \quad (3.10)$$

and

$$\begin{aligned} p \frac{\partial^2}{\partial x^2} g\varpi(\lambda) &= \frac{\partial^2}{\partial x^2} v(x, \lambda) \int_{-a}^x u(t, \lambda)h(t)dt + \frac{\partial^2}{\partial x^2} u(x, \lambda) \int_x^b v(t, \lambda)h(t)dt + ph(x)\varpi \\ &= (q - \lambda)g\varpi(\lambda) + ph\varpi(\lambda). \end{aligned} \quad (3.11)$$

Therefore, $(\lambda - L)g = ph$ holds.

It remains only to show that g satisfies (1.2) and (1.3), (1.4) and (1.5). By (3.9) and (3.10), we obtain

$$g(-a) = \frac{u(-a, \lambda)}{\varpi(\lambda)} \int_{-a}^b v(t, \lambda)h(t)dt, \quad g'(-a) = \frac{u'(-a, \lambda)}{\varpi(\lambda)} \int_{-a}^b v(t, \lambda)h(t)dt.$$

Moreover, we know that u satisfies (1.2). Then, g satisfies (1.2). Similarly, g satisfies (1.3). Moreover,

$$\begin{pmatrix} g(0^\pm) \\ g'(0^\pm) \end{pmatrix} = \frac{1}{\varpi(\lambda)} \begin{pmatrix} v(0^\pm) \\ v'(0^\pm) \end{pmatrix} \int_{-a}^0 u(t)h(t)dt + \frac{1}{\varpi(\lambda)} \begin{pmatrix} u(0^\pm) \\ u'(0^\pm) \end{pmatrix} \int_0^b v(t)h(t)dt.$$

Obviously, (1.4) and (1.5) are obeyed.

4. The resolvent operator of A

In this section, we study the resolvent operator in the Hilbert space \mathcal{H} . We first consider nonhomogeneous conditions

$$-\varepsilon\Delta'f + (\lambda I - [\gamma_i])\mathbf{f}^1 = p\mathbf{h}^1, \quad (4.1)$$

$$-\varepsilon\Delta f + (\lambda I - [\delta_j])\mathbf{f}^2 = p\mathbf{h}^2. \quad (4.2)$$

Meanwhile, the domain of the operator A implies

$$-f(0^+) + \sigma\Delta'f - \langle \mathbf{f}^1, \boldsymbol{\varepsilon} \rangle_1 = 0, \quad (4.3)$$

$$f'(0^-) - \tau\Delta f - \langle \mathbf{f}^2, \boldsymbol{\varepsilon} \rangle_1 = 0. \quad (4.4)$$

If $\lambda \neq \gamma_i$ for all i , then from (4.1) we have

$$-f(0^+) + \sigma\Delta'f = \langle (\lambda I - [\gamma_i])^{-1}(p\mathbf{h}^1 + \varepsilon\Delta'f), \boldsymbol{\varepsilon} \rangle_1.$$

By inner product calculation, we get

$$-f(0^+) + \sigma\Delta'f = \sum_{i=1}^{N'} \left(\frac{ph_i^1 \varepsilon_i}{\lambda - \gamma_i} + \frac{\varepsilon_i^2 \Delta'f}{\lambda - \gamma_i} \right).$$

Therefore, by (1.7), we have

$$-f(0^+) + \frac{1}{\mu(\lambda)}\Delta'f = \langle p\mathbf{h}^1, (\lambda I - [\gamma_i])^{-1}\boldsymbol{\varepsilon} \rangle_1.$$

If $\lambda = \gamma_I$ for some $I \in \{1, \dots, N'\}$, then from (4.1) we have $\Delta'f = -\frac{ph_I^1}{\varepsilon_I}$. For $i \in \{1, \dots, N'\} \setminus I$, $f_i^1 = \frac{h_i^1 + \varepsilon_i \Delta'f}{\gamma_I - \gamma_i}$. Thus, from (4.3) we get

$$-f(0^+) - \sigma \frac{ph_I^1}{\varepsilon_I} - \sum_{i \neq I} \frac{\varepsilon_i}{\varepsilon_I} \frac{\varepsilon_i ph_i^1 - \varepsilon_i ph_I^1}{\gamma_I - \gamma_i} = \varepsilon_I f_I^1.$$

Similarly, if $\lambda \neq \delta_j$ for all j , then

$$f'(0^-) - \frac{1}{\nu(\lambda)}\Delta f = \langle p\mathbf{h}^2, (\lambda I - [\delta_j])^{-1}\boldsymbol{\varepsilon} \rangle_1.$$

If $\lambda = \delta_J$ for some $J \in \{1, \dots, M'\}$, then

$$f'(0^-) + \tau \frac{ph_J^2}{\varepsilon_J} - \sum_{j \neq J} \frac{\varepsilon_j}{\varepsilon_J} \frac{\varepsilon_j ph_j^2 - \varepsilon_j ph_J^2}{\delta_J - \delta_j} = \varepsilon_J f_J^2.$$

Therefore, the operator equation

$$(\lambda I - A)Y = H, \quad H = (ph, ph_1, ph_2, p\mathbf{h}^1, p\mathbf{h}^2)^T \in L^2(-a, b) \oplus \mathbb{C} \oplus \mathbb{C} \oplus \mathbb{C}^{N'} \oplus \mathbb{C}^{M'}$$

is equivalent to the discontinuous nonhomogeneous BVP

$$-p(x)y'' + q(x)y = \lambda y(x) - ph(x), \quad x \in J,$$

together with inhomogeneous boundary condition

$$\begin{aligned}\lambda(\alpha'_1 y(-a) - \alpha'_2 y'(-a)) - (\alpha_1 y(-a) - \alpha_2 y'(-a)) &= ph_1, \\ \lambda(\beta'_1 y(b) - \beta'_2 y'(b)) + (\beta_1 y(b) - \beta_2 y'(b)) &= ph_2\end{aligned}$$

and transmission conditions (the case of $\lambda \neq \gamma_i$ and $\lambda \neq \delta_j$)

$$\begin{aligned}y(0^+) \mu(\lambda) - \Delta' y &= \langle p \mathbf{h}^1, (\lambda I - [\gamma_i])^{-1} \boldsymbol{\varepsilon} \rangle, \\ y'(0^+) \nu(\lambda) - \Delta y &= \langle p \mathbf{h}^2, (\lambda I - [\delta_j])^{-1} \boldsymbol{\epsilon} \rangle.\end{aligned}$$

We consider the resolvent set $\rho(A) = \{\lambda \in \mathbb{C} \mid (\lambda I - A)^{-1} \in D(A)\}$. Then, we need to show $(\lambda I - A)^{-1}$ is the resolvent operator, just prove $(\lambda I - A)^{-1} \in D(A)$.

Theorem 4.1. *Let λ not be an eigenvalue of operator A . Then*

$$(\lambda I - A)^{-1} H = \begin{pmatrix} T_\lambda h \\ (T_\lambda h)_1 \\ (T_\lambda h)_2 \\ (\lambda I - [\gamma_i])^{-1} \boldsymbol{\varepsilon} \Delta' T_\lambda h \\ (\lambda I - [\delta_j])^{-1} \boldsymbol{\epsilon} \Delta' T_\lambda h \end{pmatrix} =: \tilde{G}h.$$

Proof. Obviously, the resolvent operator $(\lambda I - A)^{-1}$ exists. It remains only to show $\tilde{G}h \in D(A)$. The definition of $T_\lambda h$ and Theorem 3.2 imply that $g \in AC[-a, b]$, $g' \in AC[-a, 0) \cup (0, b]$ and obeys the boundary conditions (1.2) and (1.3). Moreover, the equalities

$$g(0^+) = (T_\lambda h)(0^+) = \left(\sigma - \sum_{i=1}^{N'} \frac{\varepsilon_i^2}{\lambda - \gamma_i} \right) \Delta' (T_\lambda h) = \sigma \Delta' g - \langle \mathbf{g}^1, \boldsymbol{\varepsilon} \rangle_1, \quad \lambda \neq \gamma_i$$

and

$$g'(0^-) = (T_\lambda h)'(0^-) = \left(\tau + \sum_{j=1}^{M'} \frac{\epsilon_j^2}{\lambda - \delta_j} \right) \Delta (T_\lambda h) = \tau \Delta g - \langle \mathbf{g}^2, \boldsymbol{\epsilon} \rangle_1, \quad \lambda \neq \delta_j$$

hold. Meanwhile, the properties of the Nevanlinna-Herglotz function imply that if $\lambda = \gamma_I$ for some $I \in \{1, \dots, N'\}$, then $(\Delta' T_\lambda h) = 0$ and $\mathbf{g}^1 = \frac{-y(0^+)}{\varepsilon_I} e^I$. Therefore,

$$g(0^+) = -\langle \mathbf{g}^1, \boldsymbol{\varepsilon} \rangle_1 = \sigma \Delta' g - \langle \mathbf{g}^1, \boldsymbol{\varepsilon} \rangle_1.$$

Similarly, we have

$$g'(0^-) = \langle \mathbf{g}^2, \boldsymbol{\epsilon} \rangle_1 = \tau \Delta g + \langle \mathbf{g}^1, \boldsymbol{\epsilon} \rangle_1.$$

Thus, $\tilde{G}h \in D(A)$ and the desired result holds.

Theorem 4.2. *Let $R(\lambda, A) = (\lambda I - A)^{-1}$. Then*

$$\|R(\lambda, A)H\| \leq |\operatorname{Im} \lambda|^{-1} \|H\|, \quad H \in \mathcal{H}$$

holds, where $\forall \lambda \in \mathbb{C}$ satisfies $\operatorname{Im} \lambda \neq 0$.

Proof. For $\forall H = (ph, ph_1, ph_2, p\mathbf{h}_3, p\mathbf{h}_4)^T \in \mathcal{H}$ and $Y = R(\lambda, A)H$. Since $(\lambda I - A)Y = H$, we have

$$\langle AY, Y \rangle = \langle \lambda Y - H, Y \rangle = \lambda \langle Y, Y \rangle - \langle H, Y \rangle$$

and

$$\langle Y, AY \rangle = \langle Y, \lambda Y - H \rangle = \bar{\lambda} \langle Y, Y \rangle - \overline{\langle H, Y \rangle},$$

which imply $|\operatorname{Im} \lambda| \|Y\|^2 = |\operatorname{Im} \langle H, Y \rangle|$. On the other side, in view of Cauchy-Schwartz inequality, we get

$$|\operatorname{Im} \langle H, Y \rangle| \leq |\langle H, Y \rangle| \leq \|H\| \|Y\|.$$

Therefore, the inequality

$$\|R(\lambda, A)H\| = \|Y\| \leq |\operatorname{Im} \lambda|^{-1} \|H\|, \quad H \in \mathcal{H}$$

holds.

Theorem 4.3. *In Hilbert space \mathcal{H} , the operator A is self-adjoint.*

Proof. Obviously, A is a dense symmetric operator. To show that A is self-adjoint, it remains only to verify that $D(A^*) = D(A)$. Let $H \in D(A^*)$. Then

$$\langle AH, G \rangle = \langle H, A^*G \rangle \text{ for all } G \in D(A). \quad (4.5)$$

It follows from (4.5) that

$$\langle (iI - A)G, H \rangle = \langle G, (-iI - A^*)H \rangle. \quad (4.6)$$

Note that $\lambda = -i$ is a regular point. Then, we have

$$(iI - A)Y = -iH - A^*H, \quad Y \in D(A). \quad (4.7)$$

Substituting (4.7) in (4.6), we have

$$\langle (iI - A)G, H \rangle = \langle (iI - A)G, Y \rangle. \quad (4.8)$$

Similarly, from $\lambda = i$ is a regular point, let $G = R(i, A)(H - Y)$. Then by (4.8), we have $H = Y$ and thus $H \in D(A)$.

Acknowledgments

This work was supported by National Natural Science Foundation of China [Grant No.11961060].

Conflict of interest

The authors declare there is no conflicts of interest.

References

1. S. Currie, A. D. Love, Hierarchies of difference boundary value problems continued, *J. Differ. Equations Appl.*, **19**, (2013), 1807–1827. <https://doi.org/10.1080/10236198.2013.778841>
2. P. A. Binding, P. J. Browne, K. Seddighi, Sturm-Liouville problems with eigenparameter dependent boundary conditions, *Proc. Edinburgh Math. Soc.*, **37** (1994), 57–72. <https://doi.org/10.1017/S0013091500018691>

3. C. Gao, R. Ma, Eigenvalues of discrete Sturm-Liouville problems with eigenparameter dependent boundary conditions, *Linear Algebra Appl.*, **503** (2016), 100–119. <https://doi.org/10.1016/j.laa.2016.03.043>
4. C. Gao, R. Ma, F. Zhang, Spectrum of discrete left definite Sturm-Liouville problems with eigenparameter-dependent boundary conditions, *Linear Multilinear Algebra*, **65** (2017), 1904–1923. <https://doi.org/10.1080/03081087.2016.1265061>
5. C. Bartels, S. Currie, M. Nowaczyk, B. A. Watson, Sturm-Liouville problems with transfer condition Herglotz dependent on the eigenparameter: Hilbert space formulation, *Integr. Equations Oper. Theory*, **90** (2018), 1–20. <https://doi.org/10.1007/s00020-018-2463-5>
6. A. A. Shkalikov, Boundary value problems for ordinary differential equations with a parameter in boundary conditions, *Funct. Anal. Appl.*, **16** (1982), 324–326. <http://dx.doi.org/10.1007/bf01077869>
7. A. Zettl, *Sturm-Liouville Theory*, Mathematical Surveys and Monographs, American Mathematical Society, **21** (2005).
8. M. S. Agranovich, B. Z. Katsenelenbaum, A. N. Sivov, N. N. Voitovich, *Generalized Method of Eigenoscillations in Diffraction Theory*, Wiley-VCH Verlag Berlin GmbH, Berlin, 1999.
9. A. V. Luikov, Yu. A. Mikhailov, *Theory of Heat and Mass Transfer*, Gosenergoizdat, 1963.
10. A. N. Tikhonov, A. A. Samarskii, *Equations of Mathematical Physics*, Pergamon, Oxford, 1963.
11. J. Ao, J. Sun, Eigenvalues of a class of fourth-order boundary value problems with transmission conditions using matrix theory, *Linear Multilinear Algebra*, **69** (2021), 1610–1624. <https://doi.org/10.1080/03081087.2019.1634671>
12. J. Ao, L. Zhang, An inverse spectral problem of Sturm-Liouville problems with transmission conditions, *Mediterr. J. Math.*, **17** (2020), 24. <https://doi.org/10.1007/s00009-020-01598-0>
13. J. Ao, J. Wang, Eigenvalues of Sturm-Liouville problems with distribution potentials on time scales, *Quaestiones Math.*, **42** (2019), 1185–1197. <https://doi.org/10.2989/16073606.2018.1509394>
14. Z. Akdogan, M. Demirci, O. Sh. Mukhtarov, Discontinuous Sturm-Liouville problems with eigen-dependent boundary and transmissions conditions, *Acta Math. Sci. Ser. B (Engl. Ed.)*, **25** (2005), 731–740. <https://doi.org/10.1007/s10440-004-7466-3>
15. I. Dehghani, A. J. Akbarfam, Resolvent operator and self-adjointness of Sturm-Liouville operators with a finite number of transmission conditions, *Mediterr. J. Math.*, **11** (2014), 447–462. <https://doi.org/10.1007/s00009-013-0338-1>
16. E. C. Titchmarsh, *Eigenfunction Expansions Associated with Second-Order Differential Equations I*, Oxford University Press, London, 1962.